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o Washington, D.C,, is the capital of the United States of America. (True)
o Toronto is the capital of Canada. (False, Ottawa is the capital of Canada)
o 1+1=2 (True)
o 2+2=3 (False)
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H$%5A (Conjunction)

(i

e Letp and g be propositions. The conjunction of p and
g, denoted by p A g, is the proposition “p and g."

e The conjunction p A g is true when both p and g are
true and is otherwise.

TABLE 3 The Truth Table for
the Disjunction of Two
Propositions.

TABLE 2 The Truth Table for
the Conjunction of Two
Propositions.
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A (Conjunction)
e p is proposition “Rebecca’s PC has more than 16GB free hard disk space”
° is proposition “The processor in Rebecca’s PC runs faster than 1 GHz"
pAqg BInEEE EmE?
o “Rebecca’s PC has more than 16GB free hard disk space, and the processor in
Rebecca’s PC runs faster than 1GHz.”
o TAJff1t %A “Rebecca’s PC has more than 16GB free hard disk space, and its
processor runs faster than 1GHz.”
e \/: The use of the connective or in a disjunction corresponds to one of the

two ways the word or is used in English, namely as an inclusive or.
o “Students who have taken calculus or computer science can take this class.”
pVq BIfEE =
o “Rebecca’s PC has at least 16 GB free hard disk space, or the processor in Rebecca's PC
runs faster than 1 GHz."



TABLE 5 The Truth Table for
the Conditional Statement

pP—4q.

iRt (Conditional Statements)

e Letp and g be propositions. The conditional statement p — g is the
proposition “if p, then g.”

e The conditional statement p — g is false whenp is and g is , and
true otherwise.
e [nthe conditional statement p — g, p is called (or antecedent or

premise) and g is called the conclusion ( or consequence).
e A useful way to understand the truth value of a conditional statement is to
think of an obligation or a contract. For example, the pledge many politicians

make when running for office is
o “If  am elected, then | will lower taxes.”
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FAEA(IEIE (contraposition, transposition)

- EEAER REHE) o NAHSIE) BT TEEREE BRERE > Ao ER NREER) 2 TRGER BTEEER
- BN WA EREY B FHEEEEE
v HEamRR:

LA + (E3)+=2 + (i) | = | FiE + (JEats) + 2 + (FEE:H)

a. Example: FTA TRIVERGTET # WBEN = A KFEEIAN # AERENREHHE

2. | ALY + (£5)+AZ + (F) | = | ALY + (EFHE) + A2 + (FEER))

a. Example: B BREANA A2 BAMAREXE = BE FEANREJEN F2 BEANA
RepeR) NERE MAEHRA BINGREROERR(GRIMAILEERRE)
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